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                                                                                     Let-3  

1)Convert the following term in multiplication and write down answer:     

a)7+7+7+7+7                 b)5+5+5+5+5+5                    c)4+4+4+4+4+4+4           d)2+2+2+2+2+2+2+2+2          e)8+8+8+8+8+8   

f)6+6+6+6+6+6               g)9+9+9+9+9+9                   h)3+3+3+3+3+3                i)8+8+8+8+8+8+8+8+8              j)7+7+7+7+7+7+7+7 

Ans: 

a)7×5                               b)5×6                         c)4×7                    d)2×9                     e)8×6 

=35                                     =30                             =28                      =18                          =48 

f)6×6                                 g)9×6                        h)3×6                      i)8×9                     j)7×8 

=36                                       =54                          =18                         =72                         =56 

2)Simple multiplicatuion:  

a)9×9                              b)8×8                             c)6×7                   d)9×6                     e) 5×8                        f)7×8                           g) 4×6    

h) 8×9                             i)10×7                             j)7×9 

Ans:    

a)81                   b)64            c)42            d)54            e)40           f)56        g)24            h)72        i)70        j)63 

 

3) A  shopkeeper   puts  5 tomatoes on each of 4 plates. How many tomatoes are there altogether? 

Soln: 

1 plate puts   5  tomatoes 

4  plate puts (5×4)tomatoes 

                        =20 tomatoes 

Ans:  There are 20 tomatoes altogether. 

 

4)There are 5 lychees  on each of 6 plates. How many lychees do you have altogether? 

 



 

Soln: 

1 plate   5  lychees 

6 plates  (5×6)lychees 

                =30 lychees 

Ans: There are 30 lychees altogether. 

 

5) There are 4 oranges on each of 5 plates. How  many oranges do you have altogether? 

Soln: 

1 plate  4 oranges 

5 plates (4×5) oranges 

                 =20 oranges 

Ans: There are 20 oranges altogether.      

 

                                                                               The end 

 

                        

 

 

 

                

 

 

 

 

 

 

 

 


